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Instructions for the Candidates

Write your roll number in the space provided on the top of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of cxamination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(1) To have access to the Question Booklet, tcar off the papers
scal on the cdge of this cover page. Do not accept a booklet:
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions i
the booklet with the information printed on the cove
page. Faulty booklets due to pages/questions missing o
duplicate or not in serial order or any other discrepanc;
should be got replaced immediately by a correct booklet
from the invigilator within the period of 5 minutes.
Aflerwards, neither the Question Booklet will be replaced
nor any cxtra time will be given.

After this verification is over, the Test Booklet Number
should be entercd in the OMR Shect and the OMR Shect
Number should be entered on this Test Booklet.

Each 1tem has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct responsc against cach item.

Example: A @B @ O

where (C) is the correct response.

(ii)

(i)

Your responses to the items are to be indicated in the OMR Sheet
kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in the Answer Shect, it will not be evaluated.
Read instructions given inside carcfully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Shect, except for the space allotted for the relevant entrics,

which may disclosc your identity, you will render yourself liable
to disqualification.

. You have to return the test question booklet and OMR Answer

Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

There is no negauvc marks for incorrect answers.
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Note : This paper cnntams (50) fifty objective type questions, each question carrying two (2) marks.

1.

4.

Attempt all the questions.
BINT N RoTYrTE) AFIE RRTIFEIOI0
RO CPNERoONR DZREOTBATIIE 2
(A) TR=TC

(B) AR=AC

(C) MR =MC

(D) Foeds iz @),

. BYNT CINT ST FUF (WD) TEIT BIF

Do (£083) vomodngZd ot
= DBORIT ?

(A) %0300 SO NABD

(B) emang” 3,808 e wms
(C) Svoowne r{aaé)eﬁds'a NI
(D) a’#ud ROENG PR

., CDFTA cﬁ 802 (L) majcmab NS

o3 @rjﬁd@j LRIFATONG "'?
(A) S o S

(B) &45RTS* 555 QBT
(C) O wBm0s* s S e’

(D) [eso® o* ANT & QBT BT

FINS 3N ROTYPF DY BRTFTTEBME
PUTVTID YV T[IRFIDMOLTN AT
TEPONTR ARWAZT 7
(A) a+B=1
(B) a+pB>1
C) a+B<1
(D) a+B=0

1. A compectitive market is in

equilibrium with super normal profits
when

(A) TR=TC

(B) AR=AC

(C) MR =MC

(D) None of the above

. Which of the following hypothesis

deals with marginal utility of money ?
(A) Permanent Income Hypothesis
(B) Friedman Savage Hypothesis

(C) Sales Maximisation Hypothesis
(D) Rational Expectations Hypothesis

. Scarcity definition of economics 1s

discussed in the book

(A) Wealth of Nations

(B) Principles of Economics
(C) The economics of welfare

(D) The nature and significance of
economic science

4. The Cobb Douglas production

function indicates constant returns to
scale if the product of

(A) a+pB=1
(B) a+B>1
(C) a+P<1

(D) a+B=0
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(B) m&ﬁ%m mma@i SOOI
(C) WerFoD aodododﬁg{ QOO OEROBT
(D) R2:ed000* oz

. FINS SRTONYY CINTYT BOROTAT, [,B
£90B0BVOUWTDR), WRST 7

(A) TOTIREEFR WRWO

(B) B8ecyot s 20200

(C) wordem's RO
(D) 23T Fs INTO

. BINS CARPTOOT TR, 0T BRODY
TPEFBRT IR, BFODGITOST ?

(A) MTIS LRI IR,
(B) ov=amss 03 IR,
(C) A B 0w 303
(D) S3»08 3OS 8],

bGL b

| #9413 IR BT TY, sTabrbnes 2P, |

B, (Foeed) adITS 7

(A) MPC 252 MPM risb &) (0ee) azan
(B) MPC &2 MPM b 3835 amn

(C) MPC 23 3>3) MPM 385 amon
(D) MPC sz &2 MPM &) aman

. w3 C = a + by 1 oo, FENS
Beosrids AR,

1) MPC o3 300N

11) APC o3 3830030833

iii) APC 52 MPC e tomsnond Asbmones
iv) APC o300 MPC Nog &wnds
R0eDIRYNTY_ R FORTOTD ?

(A) i) @n3

(B) 1) &b 11)

(C) 1), 111) 2 1v)

(D) 1), ii) DA iv)

. A Giffin good

(A) Obeys the law of demand
(B) Obeys the law of market
(C) Violates the law of demand
(D) Superior good

. Which of the following models accept

oligopolistic interdependence ?
(A) Curnot’s model

(B) Chamberlin’s model

(C) Bertrand’s model

(D) Edgeworth model

. The dead weight loss under monopoly

1s measured by
(A) Loss of consumer’s surplus
(B) Loss of producers’ surplus

(C) Both A and B
(D) Loss of market share

. The value of income multiplier 1s high if

(A) The MPC and MPM are high
(B) The MPC and MPM are low

(C) MPC is high and MPM is low
(D) MPC is low and MPM is high

. Observe the following statements with

regard to consumption function
C=a+by

1) MPC 1s constant
11) APC 1s declining

111) APC and MPC are equal to each other
1v) APC is higher than MPC

Which of the above is correct
(A) 1 only

(B) 1and 11

(C) 1, 111 and 1v

(D) 1, 1 and 1v
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(A) Sees8 Tomd. By
(B) w=amse od w93
(C) & R D03
(D) swRzmRNe Bond, By
11. 30 UPFIRETO 0IRT DB ET0
50 9
(A) Bres® SRN R
(B) Qoox* e mn s
(C) mors z_ggpf
(D) sHea* tdnends®
12. Hxoedecd SOFE Freom WB) RogREIEOI
DEVTIAT GRET|BNT AT, TEN maj)dﬁ
SO QRTT, LSO TR TRIRICS 9
(A) 3R W& wond
(B) @zﬁgﬂ W& LONEd
(C) ﬁcfé}m YOFSIODNE FFTOWND
(D) Fo303% svvsacdone BFROUND
13. PRFBeD TR N BRD SREED 20T
BRETHOIN WPNRORTUICTITOT
1) evdren d)?d)ﬁ"% 2280 TRT
11) DTOTREN DD ddafdg{ ﬁzg;m@da
111) HFF BOT 303 ﬁzf.ozj;ds
1V) wcmﬁerfaaﬁﬁ DOBOFTIEI Few003d FBZIY
RRTT)TI
0T TePFNSO_ IR RO 9
(A) 1 11
(B) 11 &= 1v
(C) 1, iii D iv

10. The aggregate supply curve will shift
upwards except for which of the
following

(A) An increase in wage rate
(B) A decrease in productivity
(C) An increase in price level

(D) An increase in price of raw
materials

11. Who among the following economists
1S not a monetarist ?

(A) Don Patinkin
(B) Milton Friedman
(C) Karl Brunner
(D) James Tobin

12. An expansionary monetary policy and
contractionary fiscal policy mix
would increase the growth rate if it
promotes

(A) Low interest rates
(B) High interest rates
(C) Low levels of corporate savings
(D) Low levels of personal savings

13. A policy to reduce frictional
uncmployment should include

1) Dissemination of job market
information

11) Incrcasing the rate of unemployment
Insurance

111) Increasing labour mobility

1v) Reducing the scarch time for jobs

Which of the above statements arc
correct ?

(A) 1and 11
(B) 11 and 1v
(C) 1, 11 and 1v
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LIy N oY NOETFBNY LNBZD
STORT.
1) MYTION YVTOR0TZ NOXFFOED
1) SVUTDTFOR oY NOXSTTED
i) SR&E SE0S VOETFHNW
iv) SROOEE SedSY S0BY RROSRECD
B3 BEPINTY_ IR RO ?
(A) 13 1
(B) 1, 11 &2 11
(C) 1, 111 302 1v
(D) 1, ii &) 1v
15. swelrsseonue) t;azpa:ﬂd% 90030
(A) ToOROeODTT
(B) HoRT QP8 AowoAT ﬁd}%& (Re03)
(C) 03 0B ©030° 033,00
(D) momneis RmiSReusny STma

16. LEB = 63.3 IxFnshd, dodaﬁﬁ midé= 58%,
GER = 56% &03) &m0 ﬁmiﬁoé =0.56

535, HDI STOIE,
(A) 0.59 (B) 0.57
(C) 0.60 (D) 0.58

17. 39NS oA (ﬁcdzp’r) NYE o3RO &oﬁf_ﬁ

ﬁéafga 30083 gﬁéododgi TEIQROIBE ?

(A) 300&F T,NECH JRTLO HOBY T0IT
WOBY w?ﬁ TRIED TN LVPCIST

& 0

(B) @003 @n8030 FRTLO [0B) J030
wmﬂm’a’éﬁv’ 90TT T,BRED %@D’mh
W@mgd

(C) 22087 TNeodd JRTeD =03y J0ST
FOWET wmﬁ_}dﬁa’ %dmﬁ VUPCI0BTS

(D) 22085 In3od Semen w2 So2T SpiALS
NWIHD T,BNHD (VOIVTIT) ATWIN
m@odaogci

14. The rational expectations hypothesis
1s based on

1) Utility maximisation for consumers
ii) Profit maximisation for producers
iii) Expectations based on information
iv) Market clearance and equilibrium

Which of these statement are correct
(A) 1and in

(B) 1, 11 and 111

(C) 1, 11 and 1v

(D) 1, 1 and 1v

15. Substantiable development means

| (A) Environmentalism

(B) Ecological balance
(C) Intra and inter generation equity
(D) Correction of social unbalances

| 16. If LEB = 63.3 years, adult literacy = 58%,
GER = 56% and income index = 0.56.

The HDI 1s
(A) 0.59 (B) 0.57
(C) 0.60 (D) 0.58

17. Which of the following conditions
represent Hicks neutral technical
progress ?

(A) Capaital output ratio remains
constant before and after technical
pProgress

(B) The ratio of factor productivities
remain constant before and after
technical progress

(C) The labour productivity remains
constant before and after technical

| progress

(D) The ratio of profit to output
remains constant before and after
technical progress



http://www.studentbounty.com/
http://studentbounty.com/

18. Sndhatd Sweried T ors
(A) R0ETT @03
(B) m®s0 o0,
(C) =noozednd TOTR
(D) =67 2883303 SR
19. “gx 3309 DegrorzR o
w@%%mﬁdad RATH) NS 9o
ARELOJT ' ~ AT CINT Bews ?
(A) TReWE s LOBIRT
(B) &3 B . B
(C) OmT* omre*
(D) e’ Qoerd

20. BreBnea' dm:a"ﬁcd)@ﬁ BLOTIVEIT wﬁé}d@
=N,

(A) m%ai—wozﬁm%” LTS
(B) 093n00-308F 230503
(C) Fx Jess oo

(D) woBmee-H8D 9T

21. IINIJYNYY cINT TVOIW (JE)) SRS
WESS RRW,058 NEdSOE) Rede) ?
(A) W[
(B) &haes
(C) Bemam daei]
(D) 555933 303

22. S0oNE ©Z Beedom AG =25 =)
AT =25 SNTT, S0ONE T, rOF0ET
dfat%@ SNS.
(A) 4
(B) 3

(C) 1

(D) 2

18. Market fundamentalism means

(A) the significance of government
(B) the supremacy of consumers
(C) the supremacy of markets

(D) form of economic extremism

19. It 1s in the agricultural sector that the
battle for long term economic
development will be won or lost”
whose statement is this ?

(A) Robert Lucas
(B) T. W. Schultz
(C) Gunnar Myrdal
(D) James Meade

20. The adjustment variable in Solow’s

model 1s

(A) Output — capital ratio

(B) Saving — investment ratio
(C) Real wage rate

(D) Capital — labour ratio

21. Which of the following depreciations

1s not included 1n estimation of human
poverty index ?

(A) Survival

(B) Knowledge

(C) Standard of living

(D) Equality of opportunity

22. If the budget has AG =25 and

AT =25 then the value of budget
multiplier is

(A) 4

(B) 3

(©) 1

(D) 2
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23. NI IR E)odaabdd;{ tﬁ%@&a‘b@dﬁcd
307t DQADFOND_ T,030DR), L2 STTON
5930 BRACIMNST 7
(A) RASRT FOFPEIF TN

(B) A0S odwmedeod SN
(C) Res ©oss spn
(D) 3z p. 3n.

24. £pua" 301 C3RRT0 w068 RITIMST ?
(A) SN
(B) esbomonsd
(C) QTed DITOONT FT[TITNED
(D) nootdnsd

25. =50 RDI) ToRCT ﬁmmﬂd ABIOL PINGD
FENS CANRTO)_ WPNROR ?

(A) worme 523
(B) Sasin, 5%,

(C) cdmensm 53,
(D) O3 SO

26. SRFO* Ty TesBoDNY FINIYNTY 030

ﬁc}mqﬁd@t W3RN ?

(A) Sor TSR, Doy o1 TONY IRODT
JOWOT BYQTONE

(B) 3on O33R, &0 FOR TONY IEORS
LIVTVECOTD RO

(C) Sort TJ33R, o2y FOR TONY IR
TSR (DLREW) ToLOT

(D) 3o S&=R, &0 3ot DONY SEOI
3SHAPN SNRT ‘U Fowes

27. wE 36??&1355’% O3RTO BT INRIT ?
(A) . 3. 0RR
(B) .3 35
(C) WBroF* B RRT®
(D) ¥ &T°. &5°

23. Justice 1n taxation 1s best ensured by
applying the principle of
(A) Equal absolute sacrifice
(B) Equal proportional sacrifice
(C) Equal marginal sacrifice
(D) Quid pro-co.

24. Tobin tax is on
(A) exports
(B) imports
(C) transactions in foreign exchange
(D) sales

25. Food and fertiliser subsidies are
included in

(A) Capital expenditure
(B) revenue expenditure

(C) plan expenditure
(D) all the above

26. Which of the following relationships
is represented in Laffer curve ?

(A) No relationship between tax
revenue and tax rate

(B) Proportional relationship between
tax revenue and tax rate

(C) Inverse rclationship between tax
revenue and tax rate

(D) Inverted ‘u’ relationship between
tax revenue and tax rate

27. A consumption tax was recommended
by
(A) A. M. Khusro
(B) A. K. Sen
(C) Nicolas Kaldor
(D) J. R. Hicks
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28. Soonad TZTEY Sowee (Ted) ERTICIN 28. The primary deficit in a budget is

il
CIRFTE, RTINS 7 equal to
(A) S0 D) IB3 SEIDS 9030 (A) gap between revenue and
o e -
expenditure

(B) 2080539 I3 T0mINed e SN

SR 9023 (B) gap between revenue plus grants

minus cxpenditure
(C) om0 8203 3¢ WA WSRO S
“ (C) fiscal deficit minus interest

(D) 0B 2,e33M 8¢ Womeny Sed

payments
29. FINIINII), TBRODAD : (D) capital receipts minus capital
2) 2.4 DI TV | expenditure
S48 29. Match the following
QOITONGD 1) p
" a) Gross barter terms
b) T,¥ DITOCL WO .
- Qm Of tradc 1) ;) 2
QOTONED 1) Q m
X
Qm
0 b) Net barter terms of trade 11) _Q_
d X
DeBIORED i) o, =
d, m . T
c) Unique terms of trade  111) .
P X
d) Bezoring AT wgdead 1v) "I;; "

X

d) Elasticity of offer curve 1v) 5,
a b c d N
a b c d
(A) i1 1v 1 1
(A)u 1v 1 11
(B) 1 i i1 1v
B)1 u1 1 1v
e £ . = ©) i i i v

(D)iv 11 1 11

D)iv 11 1 1m
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30. Tots* HoT* RTTHRF hm%céﬁ 20002 FIN
TeDF TOMES
1) 88 ATVOBR) YBST* 37T FENGY T
T0B) OCEF OO e;szpdu&m TR

1) R0 YUSING OLRISLDC ne s era B

QAT DWOROIT
111) TR0 SRTID TEBNGO LVBDTJ DTS
SBTedodd e YWD
1IV) QePrivond,
CAPNERIBT
83 TEPENSY oINFT 7O ?
(A) 1) 1ii
(B) 1, 1il &) iv
C) 11
(D) 11 &3 iv

aa'aﬁmo’&od ey

31. T INIB (RRPTROF) N TeTOFOI0
m@d@ COORNRRERTEIBS ?
(A) LDC n¥ emo3pes2 $e3ned Sneds 03
Soed QBIIOT HOFTITOND

(B) LDC rith MPC 1) 5202058 &3aR30%
o8

ok

(C) ®0Fz0nR TR N ©9T53RIOS B
(D) 0ed8 2

32. THIING LIDBRCOT S, TOTRILD STHOD
&e0F SNF C3RTY BRJATT ?
(A) 8C°ZE° anRFe
(B) 2. 2 0nin
(C) ox°. 2%°. BOSTROEC*

D) «. & oIFT*

30. Consider the following statement with
regard to rent for surplus theory

1) The theory originated in Adam Smith’s
work and developed by Myint

i1) If explains the specialisation of LDCs
in exports of primary products

111) The trading countries are producing on
production possibility curve

1v) The country gains from trade in the
long run

Which of the statements are correct ?
(A) 1and i1
(B) 1, 111 and 1v
(C) 1and 11
(D) 11 and 1v

31. The imposition of labour standards
lead to

(A) Determinantal affects on the

exports from unorganised sectors
of LDCs

(B) Protection of labour interest in
[LLDCs and MDCs

(C) Increase in the employment
opportunities for labour

(D) All the above

32. The income absorption approach to
correct balance of payments

disequilibrium 1s formulated by
(A) Alfred Marshall

(B) A.C.Rigou

(C) S. S. Alexander

(D) A.P.Lerner
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33. Fzomedh Brvaes, SgTesdnsd 50
ARURIT 7
(A) AT LD WIE LOY) (&332
(B) azmomods W) FER,ET ﬁa&i

(C) InTHdow S,TT BRWQRNON

R) WET WOR)

(D) S0edT o

34. H. O. Doctrine @80, ________ Qoo

BeBNe SR 53,3090 SEOINIT.
1) SWNY (SReony) WERIOT FZAND
1) ©o3TENTOT IZTDAND
111) 03 BRJTINTIT IIVRAND
1V) t3eR% STORENFYS FIHAND
0eOT TeYENTS RO A0 7
(A) 13D iv

35. Daoind Sede SEZ =) o 335

&

SRRTEIOWBD ?

(A) sRowTeD
(B) 23neoed
(C) =ma*

(D) Srecd (Inectram)

33. The community indifference curves

denote

(A) The aggregate consumption

preference of a community

(B) The total welfare level of a

community

(C) The total consumption preference

for tradeables by a community
(D) All the above

34. According to H. O. Doctrine the trade

between the countries takes place due

to

1) differences in commodity costs
11) difference in factor endowments
ii1) difference in factor requirements
iv) difference in demand condition

Which of the above statements are

correct

(A) 1and 1v

lllll

35. The first SEZ of Asia was set up in
(A) Khandla
(B) Bombay
(C) Madras
(D) Noida
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36. 2033 RoTE3B BB RTOTEICD FeT 36. The constituents of organised money

market in India area
1) 30TED SRTOTE,

i) o IR,

i) Call money market

11) Ripo market

iii) 2865 Fow' R iii) Chit funds
1V) TEOTORD FOTAND iv) Finance companies
F0eOIYNT. SR 7O ? Which of the above are correct
(A) i3 iv (A) 1and 1v
(B) i b ii (B) 1and ii

(C) 1, 1 and 1v

C) 1, >R 1v

37. A company is classified as sick by

37. 3038, BoBanS L0 2002 Tod Companies Act 2002 if
dRennz 20t SOTROD, SNF FORTIOIT. (A) The company is registered for
(A) T TRFTIS 0N 303 RRCOTITHRNL0RT) 5 years and making losses
SR SRESTT (B) The company is registered for

(B) gomto e S rd adn dneommairiooatd 1 years

(C) The company has incurred
(C) S030B 0R JIRFAYR TOT SHFT IR,

financial losses for subsequent

SOPIATT | 2 years
(D) %0233 s8¢ 8 SR AT 13 50% 82, (D) The accumulated financial losses
BURR ASOTNDT are equal to more than 50% of
networth

38. 1950-1980 e300 4008m SOFE ded

o) 38. The Inds onomic policy duri
Q0T o) FLIRTERTONY. e Indian ec 1 p y during
1950-1980 was more influenced by

(A) Nehru’s democratic socialism

(A) SECR0=0 YRS ARNETT

(B) Fewods® AEnwm (B) Fabian socialism

(C) IneFsASNRZT (C) Marx’s socialism

(D) T3me*s ASR%m (D) Proudhan’s socialism
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39. Pn3esTHRRRODY Tedecd (ﬁﬁ@ecm)

RRTFEEDHS Eoews GVIINY 3¢S Laoer

T

(A) ©0oZ309y,e0 JeSngnodn :’%@eoja AT

3N

(B) 20 3207 s&Fs h@éﬁ@@ﬂ 3D WIne

NSO

(C) 3pessT 03ZNY WIDOT BIToT

CITROLD (za’ci:z‘b&)ﬁ)
(D) B=a3yC

40. 0T JWRFTH° TR0 DOUOTD
(A) =0FT wa&ﬁp@
(B) oo dﬂﬁﬁ ﬁcwccﬁﬁ&ﬂ
(C) myoesd mpeyied Eﬁdﬁfg@a
(D) moess BROIVT VeOS YPTF

41. 39N 3N LRICHIF) AGF LSOV
2002 dom wdmmﬁg%& 9

(A) MRTP
(B) FFRA
(C) FEMA
(D) BoBRY SOROHID

42. 20313 IFIEIRR Ve eBeD TN
CIRFT BNSTONS ?
(A) oo3cHOR éﬂra
(B) w@I0r 3,08 s093ned
(C) %omod ITeBnen A0
(D) 0O Q0P

39. Under globalisation the price
instability of farm products in the

domestic market 1s due to

(A) the convergence of domestic prices

with international prices

(B) convergence of farm prices in all

open economics

(C) increased divergence of farm

product prices

(D) Band C

40. Bharath Nirman Programmc is
(A) Economic development
(B) Related with India’s defence
(C) Rural infrastructure

(D) Rural drinking water supply

41. Which of the following act was
replaced by Competition Act 2002 ?

(A) MRTP
(B) FFRA
(C) FEMA
(D) Companies Act

42. Which of the following is essential to

promote inclusive growth ?
(A) Education for girls

(B) Bank accounts for the poor

(C) Assistance to backward arcas
(D) All the above
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43. P00 WESTIR FYNT CIRD AW 43. Which of the following committecs

BRI RED 7 studied poverty in India ?
(A) BeQ,T° RS (A) Kelkar committee
(B) Bo@ouo® 308 (B) Tendulkar committee
(C) oo 38 (C) Raj committee

(D) So0®@* A0S (D) Narasiman committee

44. NI YD T4 603 2650 AL PwF | 44. Which of the following is not a

50 9 component of national renewal fund ?
(A) B3 WD (A) Wage fund
(B) svdaen evznss 0 (B) Employment generation fund
(C) Toy, €03 DVCTOLD DTN A (C) National renewal grant fund
(D) 3 (D) Insurance fund
45. FINT CIRT FOLTYTR LD BFSONT, BT 45. Which of the following statistical
NESBT TETOTIN YDRRTOTO ? measures can subject to further
(A) oeRD* mathematical treatment ?
(B) Rpew® (A) Median
(C) e (B) Mode
(D) =r 3= (C) Mean
46. 70 27 (£0ER) FOIRNT) $3S L oo,
TOEFOOT ATIFORVLET TR DFoTH 46. When the hypothesis is true but it is
8003030 7 rejected by the test it is called ?
(A) 20 1 Bnexr (A) Type I error
(B) 23 11 deexR (B) Type II error
(C) =5 Jeer (C) Standard error

(D) myoxmre” BreR (D) Sample error
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47. o= TER) SPTOR IO 47. The term Regression was first used by
SOTOIRENTOLIZ ? (A) Francis Galton
(B) Karl Pearson

(C) Karl Spearman
(D) Peterson

(A) IR OO
(B) sy 200 RS
(C) s Aoho* d)%a‘
(D) &et3o’as®

48. y=20+0.72x Rooeddes dotmp, x=3.5 | 45 CGiven the equation y =20 + 0.72x the

TR Y 0D 0wz 3 9 estimated value of y when x = 3.5 is

(A) 22.52 (A) 22.52
(B) 23.47 (B) 23.47
(C) 20.72 . (C) 20.72
(D) 21.85 (D) 21.85
49. 3F BoWoTT MOFTIOT) SAS. 49. The co-cfficient of correlation is
(A) \/bxy — byx | (A) +/bxy — byx
(B) ,/bxy x byx (B) /bxy X byx
(C) {/bxy + byx (C) /bxy + byx
(D) bxy X byx (D) bxy X byx
S50. 2omd TedoDd 4 Fo), 3 TAD, 2 W S0. A box contains 4 red balls, 3 green

30BN, A/NLOT w%ﬁgmﬁ 200D balls and 2 white balls. If a ball is
zéoca’;i;{ BRTSRTT, 91 Bo) B DI drawn at random, the probability that
AT RoLIRIE0DI o 9 it 1s red or green is

4 i
(A) 0 (A) 9

3 3
(B) 9 (B) 9
(C) 401, 3(:I ©) 4cl’ 3(:1

4c, + 3c, 4c) +3c,

D

D) ~g; D) g,
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WD WSTFTN T
Space for Rough Work
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U WITFN T
Space for Rough Work

e StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

